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(1) Earth has [ lost a third of its forests over ] the
past 10,000 years.

(2) Since the emergence of the first species of

human, Homo habilis, about two milllion years

ago, [ our brains appear to have doubled in ] size.

(3) Tourism on Samui Island began in the 1970s,
when the island became popular [ with
backpackers looking for a place to ] get away
from the modern world.

(4) Today, an estimated 40 percent of Earth's
[ plants are in danger of going extinct ],
according to a 2020 report by the Royal Botanic
Gardens, Kew.

(5) Why zebras have stripes is a question that has
been discussed as [ far back as 150 years ago
by ] great Victorian biologists like Charles
Darwin.

I 280 29@ 30® 31® 320
IV 33@

vV 34@®

VI 35@ 360 37® 38@

VIl 39@

Vil 40-410@., *7<i3@®

-
HE
H¥
&

mm 1-® 2-@ 3-@ 4-©
(2) 8 + 2i 5-® 6-® 7-® 8-®
(3) 5v3 9-@ 10-@ 11-@ 12-@

(4)¥¥) .8 EMERA 4

3 13-@ 14-® 15-® 16-®
(1) b (1, 1) CBE 4 17-@ 18—-@® 19-® 20—-@
25 21-D 22-@ 23-B 24-0
ﬁ% 26—-® 26-Q 271-@© 28-©@

29-® 30-® 31-@ 32-@

3]

Wa =2, a=1 33-@ 34-® 35-® 36-0
(2)2% 37-@ 38-Q@
(3) 26#f1

4]
tanfp =3, tanf, =1, tanOy =
(1) tan 6, = 3 fp=1 0, =2
(ZR_S_ RT _
so 2’ TP
(3)ﬁﬁ=§ﬁ+§ﬁj

[5]

(1)b=3a+3, c=3a+6, d=a+3
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